Z z BBISE gy == E

5 |J5>74—U7 |LUREE 1| 2 7
- &Esy 63.1 e 1
“NoLFMJex (wosEH | 503 | BB | 3| 4 x| 4
I XEZA| 495 |Cc|cC | 4 | 3 % | 3
DD 5|5 5

D|/D|s6 |6 x| 8

ENNEN 7| 7 2

F|F| 8|8 6

1::7 ¥6,840

7-1-2 ¥29 880




Il
Fore

1|5 [JLyyzrq aEy 1|1 3
Iﬂnﬂ*—lb FEZA | 57.6 g 1
3 BERTVSYT JISEEX| 53.2 ([C | D | 3| 4 * | 8
4 I7AF7—84> |Pim 52.2 | € || € s 2
B - X2 EEES | 479 |D D |5 |5 ik

6 J3oRIV—-h— |AlGE 468 | E | E |9 | 7
Al 10 [ZE Apatmee | 468 | E | E | 6 | 8
Eﬂ IHI5% glgi— | 442 | E | F | 11|11 10
9 | 1 |PE-RATY—* |&ENIR 440 | F | F | 7| 6
10 BRFAU-X hEFXE | 435 | F | F |10 10 *
Emwtﬂmbx} mHEs (4 FIF|8|o A
N
EHp 6 ¥520 5-6-9 ¥620
BiE 6-9 ¥1,170 6-9-5 ¥5,170




L
niN

Il
T

1 AISIYIA | EiEE 1|1 A | 2
2 EI4—-NIV e 61.2 2 | 3 5
3 PIER B | 55.1 |C | C |4 |2 1
4 A-)N7-4 |WOEK| 533 | c|Cc| 7|5 3
5 TI—I—Jb ZE@A| 519 D/ D | 3| 4 4
6 EPVAN-5— |#HEE| 49.0 [D | D | 5|6 8
7 H4—Tq— ESlA# | 484 |E | E | 6 | 7 10
8 FAMAYR— |ILh#&% | 473 | E | D | 8 | 8 i
9 | 1 (95770~ |BHEWB | 447 | F| F | 9 |10
10 [FPH Y &)1lt— FI6 12|09 %
11 HUTyh SiEfl= F BBl 10 | 12 11
12 |[f v o- | mEEE B 11|11 12
N3
C] 3 3-7-9 ¥1,260
SiE 3-9 3-9-7 ¥6,370




: . TR e =
1 Svikop4)l  |(@E | 59.0 % |3
2 TSR HEA | 58.6 s A |1
3 H—-TJ%—k s 51.9 | B 2 | 2 x| 4
4 =Rk EHEs | 404 | C 4| a 2
5 [ESEyJU1oA— | AHIEE |140:2 5 D 5|5 5

5 ¥210 2-3-5 ¥630

3-5 ¥1,750 5-3-2 ¥4,570




Il
e

1 JAYYL11 NSIEX 1 | 4 #* | 10
2 | L TI094—1 @ |&#EZEKX | 55.4 "2 x| 2
3 BENTIOPYIYY |aAEA | 542 |c|c | 4] 6 6
4 RASIvFRY BT M= 521 [BCNNEN 6 | 3 5
5 |C0le19v3y)  |x®&Zz | 512 |D | D |3 |4 1
6 J5u—r57>  |m#tee=1| 486 |D D | 5|5 # | 3
7 UV RY—h—> | 448 |F|F| 7| 7 4
8 |LHd-WFVU— |EEK# | 442 | E | E | 8 | 8 9
Y19)0-5YK |FIFHEEX F 6 10| 10 7

T KIAR5— | AR | F 9| 9 8

4 ¥1,060 2-4-10 ¥7,630

4-10 ¥3,450 4-10-2 ¥39,990




—y
1
1
L
L)
3
pE
1
H
IIl
—y

=

1| 5 |PF3K71—h |Fits 1|10 x| 3
2 LN b=PUNT4— |HIEZX | 57.0 2 | 3 6
3 N IAYA+vyh |BAHIE| 53.1 | C | C | 4|5 x| 5
4 TH—bA=> Fot- 3 525 |c | B | 3| 4 i 2
5 [ SvA(—>vA |NIBIEX| 51.7 | D | C |5 | 6 | # |1
5 NoF4YJ%¥F |l | 47.2 | E D | 6 | 2| | % 8
7 JA—AN/A  |3EHEB 434 | F | F | 8 |10 10
]Eijuf?}z mERZE| 423 | F| F | 9
9 | 1 (N333333 WWAXS | 40.2 | F | F | 7
| 95e994—F2 | Ammee | S F | F |10

¥2,230 ¥1,590
¥3,270 ¥31,390




I = = BBH &N B & =
1 1Y myIN— ILAEREE 1|1 x| 1
2 [0 vess1-Fo> (Sl | 57.1 7|9 9
3 BLNFYIRTIA ISR | 545 |c | c | 2| 2 2
4 JSYINTT)I— |BEHRIRIE | 52.8 | C | C | 3 | 4 7
5 KN—51—%>4 |#xHE=Z| 508 |D D | 4 | 3 3
6 [ IEF(I407y |fhEXES | 479 |[D | D | 5| 6 4
7 AR HYY Y Wih#%#% | 46.3 | E | D | 6 | 5 |5
8 TI3VIANX IWAKX# | 445 |E | E | 9 | 8 #* | 6
o [Plzv-so-+ |Ea= | 437 |F|F |87 8
10| 1 [FPYRNR-Y | EHEX | L F |6 10] 10 10

¥2,590

¥14,550




5 z z BBISH a2 £ = I
1 FALE—A>b AR 2 | 2 4
2 O—-XEUAR Pt 1|1 #* | 6
3 SJU—-¥i— |AHAEE| 53.6 [C|C | 3| 3 2
4 | 5 |A-INThy |KBEZ| 53.2 | C | C | 4| 6 8
5 AGARIH—  |RHEER 503 |D| D 8|8 5
6 | |FHYYVINER |ENE 495 'D|D |5 4 x| 3
7 IS HY AIEFZX| 465 |E E | 6 | 7 * | 9
8 |EN|JI-NbovSY |WiEwit | 43.1 | F | F |7 |5 1
o FUND/ZI-Nk |#ME= | 408 | F | F |9 |9 7
DEEESSTNEEET] 6 | 10| 10 10
3 ¥1,120 2:3-7 ¥3,630

2:3 ¥2,160 3:2-7 ¥33,870




-
agh
]
Ll
L

W (N | = R o
! [ il

Il
T

NCJIOATVA |RHE 1 | 1 x| 2
VFT4PYIL—" |EEARIRE | 57.7 4 | 4 * | 7
h—=NWAN-b | F#EES 540 |C | B |3 |3 1
“H 10 PR R AHEEZ | 532 (c|c| 2|2 3
s [ENF TRk [Eeme | 504 B c |66 8
6 | 1 |[P4d-Lk ootk | 46.1 | E | E | 5| 5 6
7 | 5 |TnOoq ARZHsE | 45.2 |E|E | 7 | 8 % | 5
8 ﬁ?}bﬂ'ﬁﬂb fZ=EX | 421 F | F | 8 | 7 10
9 O—RF7ITVIL—b |EFHE 40.5 F| F| 9 |10
10 I7AHNFYT | EaE F| F |10 9
IhRE®
2 ¥440 2-4-10 ¥640
2-4 ¥420 2-4-10 ¥4,780




9/27(&) Mt812R [RPT10]

C

1|1 2

T 3

Z@EE | 538 |[C|C |35 x| 5

FEEFX 504 | C|C | 4| 4 4

(REFE | 489 DD |56 x| 1

3 S | 480 |D | D |8 |8 8

7 BN 9YIAK—9 |&a= | 454 |E E |6 | 3 x| 7

FIAS FIEFEKXK | 45.1 E|(E | 7|9 6

9 | 1 [\¥YhvT s | 43.2 | F | F | 9 |10 9

10| 5 |TS5474FPYF (45X | 425 | F | F |10 7 11

11 [P #39T4/(5Z b 5 | 11 10
N

HHps 3 3-7-9 ¥2,160

=3 3:7 3-7-9 ¥33,010




